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THREE YEAR B.Sc. (CBCS) DEGREE EXAMINATION, NOVEMBER 2016
FIRST SEMESTER
Part II — Electronics — 1

BASIC CIRCUIT THEORY
Time : 3 Hours ‘ Max. Marks : 75
PART - A

8 -
Answer any FIVE questions.

Each question carries 5 marks.
PT° D) (550K SEIEHBVeD FEPAHIB.
58 (5% 5 S8y, e0.

(Marks : 5 x 5 marks = 25 marks)

1.  Distinguish between A.C. and D.C.
A.C. 508050 D.C © Doy Been [0,

2.  Explain Node voltage method analysis of electrical circuits.

D56 HOAHOS’ T 5B JBes SEAR 95B00G.

3.  State and prove Superposition theorem.

K98 DS VTR DEGHOD AET*DHOWID.

4.  Draw Norton’s equivalent circuit of network shown and find current in R, .

. 1808 $085) D0 TYS DA DodirR) Ad R, S Tgoe (S50 degbro SHR"R00w0.

_—

V:GV -

5.  Explain the frequency response of high pass R, circuit.

R, 88 K0 H00%00S° drdeddy gossin K58y d580B0&.
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10.

11.

12.

13.

14.

Explain the CR differentiator circuit.
CR e550d S0dired) A58y dd8owodw.

Derive expressions for @-factor and bandwidth of LCR series resonance circuit.

LCR @&} esoms Hochsn G, @ - MHesshn $08a50 563 et Shosteres: tagod.

Write the differences between series and parallel resonance.
B3 S0BOIV NDHT0BHY e9:0°HD0e 065 PAIARSIY) ErOs0S.

PART - B

> - O

Answer ONE question from each Unit.
Each question carries 10 marks.
DS A0S 006 2.8 (35 SETFPHR0 P00
@D 5% 10 Sredo)en.
(Marks :5x 10 marké = 50 marks)

UNIT -1
Define and derive the expressions for average and r.m.s values of an A.C. signal.
A.C. S08HI0H Bifeon H0BAD r.m.s DeuHeD) dEI0D T8 AEBeETORL ToaeBw.

Or

Define current and voltage. Give the significance of sine wave.

8306 20800 SBIero DEGDOHOG. DS BN BN, PR Beod.

- UNIT-1I
State and prove Kirchoff's voltage and current laws with suitable examples.
807, 5B 200AH 306w DALV AETEFEEIoN™ JHBOWOE.
Or
Explain the loop current analysis for a two loop network.
5085 HOADBRNVHE HOG DS DGR dHBoHOE.
UNIT - 111
State and prove Thevenin’s theorem.
BODN DETOBHN0 DYDOD DT D00,
Or
State and prove Milliman’s theorem.

DEBTES DFLoBHND DEII0D DEI*DOBINN.
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15.

16.

17.

18.

UNIT -1V

Explain the transient response of RC circuit with step input.

RC 50000 @), (6730065 osdio RO &om)ssos’ 9580508.

Or
Explain the frequency response of RL circuit as low pass and high pass filters.
RL S0a05500 GBa¥); dedidvg oo low pass 2080w high pass DEBDeT DH5BoBod.
UNIT -V

Define Resonance. Explain the series resonance in RLC circuit and derive expression for its
resonance frequency.

RITESENR DEGD0B08. RLC 300006° #e3 0omssnto 95809, 70 eRmeds awoddganst
SAFBEIDVK T°2ERI0.

Or

Explain the parallel resonant circuit and derive expression for its resonance frequency.
[ETP0BHE  eoTrE HOoHHVR DHBoWodt B TR eI DLV RAEBEIDV

mm&gzﬁn.
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